SB4JE W R NIZ B ik HE R RSt

EbZEmfA]: 2023410 H22H—10H 28 H L3R AL BTN
| g | B | ma SR ma | ww | PEEER ) magmiimes
1 7 % Wi 50K H H ¥k 35. 57 2 1y
2 7 S WL 400K H ¥k 6:00. 41 2 YN
3 7 S WL 100K APk 1:28.79 2 By
4 Wi 7 WriT 200K NIR Ak 3:11.19 2 ik
5 KE S Bevh 50K H H ik 31. 56 2 XI5
6 KE S ] 400K H H ¥k 5:57. 42 4 XI$5
7 - S (S| 100K APk 1:24.39 3 XI$5
8 KE S Bevh 100K Pk 1:27.84 3 X1
9 K 7 Bevh 100K M7k 1:16.55 3 XI5
10 KE S O] 200K NIRRTk 2:46. 36 2 XI5
11 IS S it} 502K F Hik 36.51 3 XI$5
12 TR S it} 400K H H¥k 6:05. 19 3 XI$5
13 S 58 Bevh 100K Bk 1:46. 21 2 XI$E
14 FREZ 7 5 50K H H1 ¥k 30. 06 1 W5k
15 TR S P 50K H H1 ¥k 31.75 3 K P
16 XI] R % b 100K AP ¥k 1:09. 03 2 XIPR
17 X1 A % ik 200K NIRRTk 2:31. 22 3 X7
18 X1J JRUEZ % ] BARE 34534 X 100K VRS VK3 1 4:36.03 1 NI ERETS X R
19 B ES Wi 50K H H ik 33. 44 1 b
20 B S WriT 100K H ik 1:11.53 1 ik
21 P r e S WL 400K H H ¥k 5:16. 43 1 ik
22 P ra e S WL 100K Ak 1:20. 58 1 DRI ERSTS YN




(IESES A

B | #s | BH | EAET SR H Bt | AR | T par | ERAEIBER
23 A e £ Wi 50K i vk 35.00 1 YN
24 T A e S WL 200K NIR GV 3:11. 28 3 i
25 WA e % WriT BAIRA 20434 X 50K IR-ETKEE ) 2:30. 36 1 ik
26 T A e 7 WL BARA34534 X 100K E k% 5 4:12.71 1 NI ERSS i
27 W15t S Wi 100K H H ¥k 1:27.22 6 i
28 et ‘S WL B AR 420734 X 50K IR-ATKEE S 2:30. 36 1 i
29 BB % (S| 200K H Hik 3:07.35 2 X $E
30 Rl LS Bept 50K i ik 45. 54 6 KB
31 BB 7 S| 200K NIR Ak 3:25.85 5 X8
32 LR S LM 100K H ik 1:08.21 2 JE T %
33 BN LS S 400K H ¥k 5:13.72 2 JAT %
34 NES % S 100K APk 1:15.42 1 JAT &
35 % LS M 200K NIR GV 2:43.75 1 JAT 2
36 it R % M 100K H ik 1:00. 76 3 AT %
37 it R 5 LM 400K H HHiK 4:40. 24 3 JE T %
38 R 5 S 100K APk 1:15. 69 5 JAT %
39 R 5 S 100K 1t ik 1:04. 08 1 JT &
40 M 5 M 100K H H ¥k 1:00. 19 2 JAT 2
41 Mt ke % M 400K H HiK 4:39.74 2 JET %
42 Mt 5 LM 100K i3k 1:12. 49 2 JE T %
43 LB 5 S 200K NTR GV 2:25.18 2 JAT %
44 M 5 M B AIRA 34534 X 100K [ HvkdE 1 4:12.71 1 NIRERSS JET %
45 A% R 5 = 50K H H¥K 44.91 3 M-
46 4l R % P 100K H ik 1:41. 10 3 Mk
47 4l R 5 =M 50 KAk 45. 20 1 Mk
48 it 5 M 400K H HiK 6:10. 11 4 JET %
49 Wt 5 S 100K APk 1:14.67 1 JT &




(IESES A

B | #s | BH | EAET SR H Bt | AR | T par | ERAEIBER
50 it 5 S 100K Pk 1:19.74 1 JAT %
51 it 5 S 50K gk 32.61 3 JAT &
52 it 5 M 200K NIR GV 2:37.53 1 R % JAT 2
53 (GESES 7 M 50K gk 39. 32 3 JEESAE AT %
54 (EESES 7 LM 200K NIR GV 3:15. 87 4 NIRERSS JE T %
55 HEMR R 5 Wi 50K H Hk 26. 01 1 T
56 HEMR R 5 Wi 400K H H ¥k 4:35. 80 2 T
57 HE MRk 5 Wi 100K APk 1:12.41 3 B
58 HEMRIR 5 WL 100K Pk 1:09. 25 4 B
59 HEMR IR 5 WL 200K NIR GV 2:43. 20 5 B
60 T % WL 50K H Hk 31.37 2 T
61 T4 % Wi 100K H H ¥k 1:11.99 1 TG
62 FZEiE 5 WL 200K H Hk 2:43. 41 2 T
63 T4 5 WL 50 KAk 34. 30 3 B
64 T 5 WL 50K gk 31. 52 1 B
65 (FRESZS £ WL 100K H H ¥k 1:04. 17 1 DI ERRS T
66 (ERESZS £ Wi 400K H H ¥k 4:56.99 1 T
67 IREERS LS WL 100K Ak 1:16. 34 1 T
68 IRER 7 WL 100Kk 1:10. 89 1 B
69 REERS 7 WL 200K NIR GV 2:39. 20 1 B
70 REERS B8 WL B AR A 34954 X 100K I8 S vk 3 ) 4:36.03 1 P2 5% T
71 gk £ Wi 502K H Hk 27.76 1 DI ERRS T
72 gk £ WL 100K H HK 1:02. 94 1 T
73 ek S WL 100K A ¥k 1:10.73 1 NI ERSS B
74 [ 7 WL 100K Bk 7k 1:23.65 2 B
75 gk £ Wi 100K Ik 1:10. 04 1 TR
76 [ S WL 200K NIR GV 2:42. 55 2 B
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B | #s | BH | EAET SR H Bt | AR | T par | ERAEIBER
77 LS B8 WL 50K H Bk 30. 21 1 NIRERS S AT
78 LS S WL 100K 9k 1:28.30 4 i
79 M5 % Wi 200K NIR GV 2:49. 92 4 ik
80 (ERITE 5 WL 100K H ik 58. 96 1 B
81 IR % Wi 400K H H ¥k 4:31.31 1 e
82 (ERIELN % Wi 100K Bk 1:12. 28 1 e
83 CRiAW 5 WL 200K NIR GV 2:21.71 1 i e
84 (ERIEE W 5 WriT B AR A 34534 X 100K IR Sk 3 /) 4:36.03 1 NIRERSS T
85 AR 5 Ak 50K H HHiK 31.88 3 Tk P
86 AR 5 Ak 100K H ik 1:13. 49 2 Tk P
87 AR 5 Bl 50 KAk 33.77 1 Tk P
88 AR 5 Bl 50K i ik 32.78 3 Tk
89 AR 5 A BAIRA 20434 X 50K IR-ETKEE ) 2:30. 36 1 QU
90 W 2 S =] 100K i3k 1:29.63 5 A
91 Tk IbeY 7 LT 502K H HHiK 30. 17 2 g
92 KR £ L 100K H H¥k 1:07. 28 1 25 (g
93 ke S LT 400K H ¥k 5:04. 48 1 DR ERS S By
94 TR LS LT 100K Ak 1:20. 51 3 25 (g
95 TR 7 Ui 100K 9k 1:25.83 2 25 (g
96 K IpefY 7 LT 200K NIR GV 2:43. 84 2 25 {ig
97 E&HNI 5 o] 50K H Hk 30. 39 2 25 (g
98 4N % Eg 100K APk 1:17.82 3 By
99 T 4N 5 R 50 KRk 31.47 1 A I
100 T &N 5 =] 200K NIR AWK 2:49. 11 2 A
101 A& Py WL 50K H Hik 26. 46 2 AT
102 EEV % WriL 400K H H¥k 4:40. 94 4 i
103 BV % WL 100K Ak 1:08. 50 2 M
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S| e | | EmEm SR A Bt | AW | e | EERE IR
104 A& 5 Wi 100K Ik 1:03. 85 2 YN
105 A& Py WL 200K NIR GV 2:26. 37 1 i
106 IRES B8 LT 50K ik 39. 88 4 e {gnE
107 Ji &g % Py 100K i3k 1:15.23 3 TR
108 Ji E4e % Py 100K 5k 1:04. 45 2 KIS
109 Lkl 5 M 100K H HHik 1:08.18 1 JET %
110 ekl 5 LM 400K H HiK 5:10. 23 2 JET %
111 % 5 B 100Ktk 1:50. 24 3 2
112 k5 7 th 7R 50K H HHiK 28. 24 2 X8
113 k5 7 th 7R 100K H ik 1:04. 43 2 XIH5
114 [ LS ITER 100K APk 1:12.12 2 XIBE
115 [ £ TR 100K B9k 1:15. 82 1 X B8
116 [ £ 2R 100K 5k 1:13.15 2 X
117 k5 S th 7R 200K NIR Ak 2:32.10 1 X8
118 k5 7 th 7R BAIRA34534X 100K & k% H 4:12.71 1 DR ERSS XIHE
119 [ ‘S IR B AR A 34554 X 100K I8 & vk 3 ) 4:36.03 1 NIRERS S XI$5
120 T 5 % fi]e 100K H ik 1:18.56 2 X $E
121 o LS figes 400K H H19k 5:56. 66 3 KB
122 M 7 gy 100K B3k 1:47.54 3 X8
123 4 S figes 50K i ik 43.12 3 XIBE
124 XI|TE B ‘S S 100K Pk 1:36. 68 1 JAT %
125 XI|TE % S 50K gk 37.70 2 JT &
126 XI|TE % M 200K NTR Gk 3:07.09 1 JAT 2
127 ¥ES 7 e 50K H HHiK 31. 22 4 IR
128 ik E’8 b 100Kt vk 1:24. 54 1 xR
129 ik £ b 200K NTR AUk 2:50. 47 3 xR
130 JET 5 i) 100K H ik 1:12.85 4 i
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131 JET 5 il 400K H HiK 5:08. 21 1 NIRERS S AT

132 R % L5 100K H ik 1:23.54 5 XI$5

133 FR L 5 P 100K H HK 1:19. 47 4 M-
134 & 5 =M 200K H Hik 2:58. 05 6 Mk
135 & % Py 100K 9k 1:53.29 2 ¥k
136 &%t ‘S PN 400K H ¥k 5:37.22 2 Tk P
137 &%t £ Py 100K Ak 1:22.30 2 Tk
138 &%t £ Py 100K 3K 1:14.72 2 Tk
139 e 5 P 50K H HHiK 26. 40 1 Ve
140 I 5 P 100K Ak 1:09. 68 5 W5k
141 e 5 P 100K Bk 1:15. 47 5 IS
142 e 5 P 200K AR AUk 2:26. 80 3 IS
143 g 5 P BAIR A 34534 X 100K [ HvkdE 1 4:12.71 1 NIRERSS M-
144 PUSET e 5 Niikes] 100K H ik 59. 85 5 B

145 RSk By e 100K A3k 1:12.12 5 LgLd

146 AR EK 5 il 100K it yk 1:01.13 1 gig:

147 R 5 "% 50K H H¥k 31.18 3 XA e
148 T % J7R 400K H H ¥k 5:16. 63 3 xR
149 B4 % J" %R 100K Ak 1:20. 80 3 X7
150 B4 % "% 100Kt vk 1:20. 08 6 xR
151 B4 % I~ 7R 50K i vk 32.17 2 AR
152 R 5 "% 200K NIR GV 2:43. 84 1 XA e
153 MR R % "% 502K H H ¥k 26. 11 4 xR
154 AR R % J" %R 100K Pk 1:11.48 3 KRS
155 AR R % J" %R 100K Pk 1:03. 96 3 xRS
156 AR % J7 7R 200K NJR ATk 2:29. 25 5 xR
157 LRCST 5 Bivll 100K A3k 1:20. 12 2 JE 2%
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158 MitEn 5 M 50 K5Ik 33.54 4 JET %
159 7R 5 S 200K NIR GV 2:50. 73 2 T %
160 Wl = WS 10044k 1:17.34 6 THAE

161 FEIKAE % J" %R 100K 5K 1:03. 09 1 X7
162 K % J" %R 200K NTR AUk 2:32.36 6 xR
163 M 5 R 50K H Hk 26. 34 3 Tk P
164 W& 5 KA 100K APk 1:09. 18 1 KIS
165 & 5 R 100K 1 vk 1:13.11 1 Tk
166 M 5 R 100K 5K 1:07.10 3 KIS
167 M 5 R 200K NIR GV 2:34. 50 3 Tk P
168 AR 5 % 100K H H¥k 1:08.93 2 ik

169 AT = % 10044k 1:16.70 2 M

170 B 5 4 100Ktk 1:26. 16 3 YN

171 A % thiZR 50K 5t ik 31.80 2 M

172 AR 5 th 7R 200K NIR GV 2:53. 25 3 i

173 a0 5 e 50K H Bk 30. 01 1 X
174 a0 5 e 200K H Hik 2:40. 83 1 DR ERS S IR
175 R4 % b 50 KAk 34. 14 2 xR
176 LR 2 ik 100K g3k 1:25.55 2 KR 7
177 4N % b 50K i ik 32.31 2 xR
178 LI 5 ik BALIRA 20404 X 50 KB4k 7 2:30. 36 1 xR
179 PR LS BT 200K H H ¥k 2:55.51 1 A
180 Fhrta LS b 100K H HK 1:09. 33 3 X
181 FRa S e 400K H Hik 5:40. 40 3 IR
182 Fth 7 ik 100K M3k 1:18. 62 2 X e
183 Fkih L b 100Ktk 1:36. 15 3 xR
184 (95 5 Jest 50K H Bk 28. 30 5 25 (g
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FE| g | HE | ERET SHHH B | AR | T pan | EERBE ISR
185 (N5 5 Jbnt 400K H H¥k 5:22.09 3 25 (g
186 (45 % Jex 100K A3k 1:10. 18 2 25 {g e
187 (45 % Jex 100K d: vk 1:23.71 3 2 e
188 (N5 % Jent 200K NTR Ak 2:40. 11 4 25 (g
189 s S P 400K H HHiK 5:12.29 1 Tk P
190 e LS P 100K APk 1:22.25 1 QLT




